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Question Number : 1 Question Id : 544734481 Display Question Number : Yes Is Question
Mandatory : No

Let f(x) =(x+2)*—2,x=—-2.Thenf *(x) =
fG)=(x+2)P2—2,x= -2 eod f 1(x) Dend

Options :
g —N2H+E—2

o V2ihHt2
" V2+x—2

—\2+x+2

E

Question Number : 2 Question Id : 544734482 Display Question Number : Yes Is Question
Mandatory : No
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If ‘f" is the greatest integers function defined on R as f(x) = [x] and ‘¢" is the modulus

function defined on R as g(x) = |x|. then the value of (gof) (:?:5_) 18

7 R 6808 Qg o] DDA f(x) = [x] TR LBao g’ O & P .

o33 R p 9(x) = x| ™ 2629, (gof) () Dewd

Options:

1.*1

Question Number : 3 Question Id : 544734483 Display Question Number : Yes Is Question
Mandatory : No

Iff:R - R and g: R — R are two functions defined by f(x) =ax+ b (a# 0)Vx ERand
glx) = ex’ +d(c#0)¥x€ER. then (fog)-l(x) =

f:R = R %8050 g:R - R 9doasro f(x) =ax+b(a = 0)Yx ER, glx) =ex’ +
d(c#0)VXERT 6N W@ (fog) ™ (x) =

Options:
=+
( x—ad+ Db )2
].Q ac
1

(x+a.d—b)_3—
5 ac

2.
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(x+ad+b>?
* ac

Question Number : 4 Question Id : 544734484 Display Question Number : Yes Is Question
Mandatory : No

Using mathematical induction, the numbers a,'s are defined by a, = 1L,a . =3n" +n+

an (n 2 0) then an =

a, Vo[ ay = 1,0, = 3’ +n+ a, (n 2 0) ™ QEWR, AdErorid dgrodo
= %

nt+l
D6 @, D VATHIB.

Options :

3 T
o N +n"+1
n- — n2 +1

RN

3 2
. N+ N
4. ]

Question Number : 5 Question Id : 544734485 Display Question Number : Yes Is Question
Mandatory : No
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a; by ¢ 8y by ¢
Ifk€RanddetA= | a; by cy|=kthendetB=|[a,+2a; by+2by ¢+ 2¢|is

a; by o a5 by o

equal to

dq b1 Cy a1 bl Cq
detA: ds b2 Cy =k€.901)e'§. detB: 32‘}'231 b2+2b1 C2+2C1 g)(kER)

ds b3 C3 a3 b3 C3
PeATRONE
Options:
% 0
5 % 2K
3.v K
4. % K*

Question Number : 6 Question Id : 544734486 Display Question Number : Yes Is Question

Mandatory : No

— \'[2020 \"{2021 \/2021 \/2023 i
/ f j /
V4040 /4042 4044 /4046 p—
el =] % . then the rank of A is
\{"6060 \"'6063 \'/6066 \.’6069 1€11 1i1€ 1ank o 18

V8080 +/8084 +/8088 /8092

A dr98 §6

Options:

1.**""1
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Question Number : 7 Question Id : 544734487 Display Question Number : Yes Is Question
Mandatory : No

x x% 1+x°
If|v v? 1+ y®|=0andux,y,z are all distinct. then xyz =

z 2% 1423

x x2 1+4+x3
y y2 1+y3| =038 x,y,zew VDT LOVB. xyz =
z z2 1+28

Options :

R

Question Number : 8 Question Id : 544734488 Display Question Number : Yes Is Question
Mandatory : No

Let A be a n X n matrix such that 4 is upper-triangular. Then adj(4) =
A8 nXndrds. A w8 dd Sz Hr8S wond. adj(4) =

Options:
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lower triangular matrix

| B zbn Sr8s

upper triangular matrix
5 ¥ DD B HrB3s

diagonal matrix

DEY AraE
3. % = -

scalar matrix

4% QT ArBS

Question Number : 9 Question Id : 544734489 Display Question Number : Yes Is Question
Mandatory : No

Let Z,,Z, , Z5 be three non zero complex numbers such that a = |Z;] b = |Z,|, ¢ = |Z5] . if

a b ¢
the determmant |b ¢ a|=0.then
c a b

7y, 23,23 00 S0PCo HFR(A6 0088 dowxen a = |Z4],b = |Z] ¢ = |Z5] eocbiom

a b
b ¢ i)g"dsm) ?oa&)l 00
c a

St QN

Options:
- |Z4| = 12| = |Z5]| = abe

, v 1Zy| + 25| +1Z3] =0

3 1Z1| + 12| + |Z3| = abe
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1Zy — 25| =12, — Z5]

Question Number : 10 Question Id : 544734490 Display Question Number : Yes Is Question
Mandatory : No

2 2 2
If |z1 2 zz| = Izll + IZZI . where z, and z, are two complex numbers. then

2 2 2
2, 1 2, 0086 Voo |z, +2,| =|z,| +|z,| oo

Options :
Zy
— 1s purely real
Zz
Zy
— B0GQ TR VoY
x 22 =
1.
zZy : ;
— 1s purely imaginary
Z2
Z1
— 308 sﬁ)ba o8y
Z5 2
2.V
Z4q T
arg (Z—) — 7
3.% B
z
2|y
4% 2

Question Number : 11 Question Id : 544734491 Display Question Number : Yes Is Question
Mandatory : No
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: ' . f3-Mx , :
A real value of x will satisfy the equation (3 7 4ix) =a —if (a,f arereal). if

3 4lx 4 / v v v 2 V. v. 9 v\ AS.
( T 4ix) = a—if (a,f 0 TR ms_o}gw) N af&:édwi)l X 0% TR Do) S1089

Options:
2 2 v
% @ —p°=-1
2 S
Z.QQ —f°=1
2 g
3 o8 +p°=1

Question Number : 12 Question Id : 544734492 Display Question Number : Yes Is Question
Mandatory : No

_ i —.9
What is the value of (1 —i+/3 ) =

—
(1-iV3) g, dewd

Options:

9
2
1. %

2.¥ 27
- 2%
4% —2%i
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Question Number : 13 Question Id : 544734493 Display Question Number : Yes Is Question
Mandatory : No

e 2020
(v’f—i—\/ V6 ++/2 i) 2
4 4
Options:
1 \,-’?
— + —i
, % 2 2
—k \§
— 41
5 ® 2 2
-1 V3
—————— )
3.8 2 .
1 \§ .
L
4.v . 2

Question Number : 14 Question Id : 544734494 Display Question Number : Yes Is Question
Mandatory : No
FFf(10—x)=3x*+4x—5and f(x) =px’ +gx +rthenp+qg+r=

FA0—x)=3x*+4x—5,f(X)=px’+gr+reoondp+qg+r=
Options:

];3272

, v 274
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275
3. %

433273

Question Number : 15 Question Id : 544734495 Display Question Number : Yes Is Question
Mandatory : No

For a # b. if the equation x* +ax+b = 0and x* + bx + a = 0 have a common root, then

the valueofa + b =
a # b eand. ¥ +ax +b =0 28w r* + bx +a = 0 PSETLD &
20r0d008, a + b g, Jed

Options :

v 1

Question Number : 16 Question Id : 544734496 Display Question Number : Yes Is Question
Mandatory : No

If the product of the roots of 9x® + 112x* - 120x + a = 0 is 12, then the value of ‘a’ is
93 + 1124 ~ 120x + 0 = 0 %2 arere g 12 0003, ‘o’ aog) Devsd dod?
Options:

% —12
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, % 12
, v —108

, » 108

Question Number : 17 Question Id : 544734497 Display Question Number : Yes Is Question
Mandatory : No

2 + /5,1 are roots of the cubic equation given by

& 808 200 HESETIS 2 + 5, 1 e Soreren e99)EE o
Options :

| % x24+3x2-3x—1=0

- ¥ —3% 8% —-1=10

3 ¥ ¥ —Ext it 3x L1 =0

L% x>+ 55> —-3x+1=0

Question Number : 18 Question Id : 544734498 Display Question Number : Yes Is Question
Mandatory : No

A set contains 11 elements. The number of subsets of the set which contain at most 5 elements 1s

28 0BG 11 Jresane 63)2. 28) 6 EORNAE" BT 5 reshne Golbld
) BB Eotron?
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Options:

1ZC0 + 1ZC2 + 12C4

1.%

12 12 12
R

i} 1ICO+ IIC1 £ leC2 £ 11C4

. 11C0 + 11C1 + 1162 = 1163

Question Number : 19 Question Id : 544734499 Display Question Number : Yes Is Question
Mandatory : No

2xt—x3+3x%—x+4 A B
If = f(x) + -+ then
x2—3x+2 f( ) xX— xX—2 -
4 3 2
2% " =x"+3Ix"—Xx¥4 A B
=if{% 900D
x%—3x+2 f(l) + x—1 + x—2 -
Options:
L fe) = 2x*+5x+14.A+B =39
1.

L« fO) = 2x* —5x+14.A+B =31
v f(x)=2x*+5x+14.A+B =31

. fx)=2x>+5x+14,4A=4,B=35
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Question Number : 20 Question Id : 544734500 Display Question Number : Yes Is Question
Mandatory : No

Let 6 be an angle in the standard position such that the point (=5, 12) lies on its terminal side.
then

Fareds 6roae’ God SRy 6 Bod i (=5, 12) Do) Goth By

Options:

. |sinf| = —sin 8
, |cos 8| = cos @
v |[tan8| = —tan 8

. |cosec 8| = — cosech

Question Number : 21 Question Id : 544734501 Display Question Number : Yes Is Question
Mandatory : No

A (A T ¥ia 5 i3
If cos— cos— cos— cos— = 2™ cosec—- thenm +n =

= 8 16 32

T T T T . m R I
cos 2 cos 3 Ccos 16 cos 37 = 2" cosec = LoV M+ n =

Options:

12327

, % 25
, v 28

43329
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Question Number : 22 Question Id : 544734502 Display Question Number : Yes Is Question
Mandatory : No

3
IfA+B+C Z?n.thenCOSZA+COSZB+COSZC=

3T
A+B+C=Tef>ooaé cos 24 + cos 2B + cos 2C Dend

Options:

. 1—4sinAsinBsinC

1+ 4sindAsinBsinC

2. %

3 % 1—2sinAsinBsinC

4 % 1+ 2sindsinBsinC

Question Number : 23 Question Id : 544734503 Display Question Number : Yes Is Question
Mandatory : No

Tan"*(—2) — Tan"*( 3) is equal to
Tan™1(—2) — Tan™1( 3 ) £ DATIDD Dend
Options:

3

1*‘*’34
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T
3. % 6
—37T
4V *

Question Number : 24 Question Id : 544734504 Display Question Number : Yes Is Question
Mandatory : No

sinh(x + y) cosh(x — y) is equal to

sinh(x + y) cosh(x — y) 85 DITIDI

Options :

1
£ (sinh 2x + sinh 2y)
1.v

, % (sinh 2x + sinh 2y)

1
= (sinh 2x — sinh 2y)
3.% ~

4 (sinh 2x — sinh 2y)

Question Number : 25 Question Id : 544734505 Display Question Number : Yes Is Question
Mandatory : No

What is the value of (@ — b)? cos? % + (a+ b)? sin? % -
Y2 2 € N2 .2 C .
(a — b)“ cos =% (a+ b)° sin < DD DATFHDIG

Options:
AP EAPCET 2021
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Question Number : 26 Question Id : 544734506 Display Question Number : Yes Is Question
Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle A is denoted by ry. similarly

r, o angle B. 13 & angle €. If y = 2,1, = 3,1, = 6. thenwhat is (a, b, ¢) =

Sz0aa0 ABC &° 810 A % AT &ol S0 m5bvga» 1, OB deorT 1, < 8890 B. 13 &
800 C. 7= 2,1, = 3,13, = 6 0a0d (q, b, ) & RAFIHO

Options:
| ¢ (3,4, 5)

, % (3,5, 4)
3 % (5 4, 3)

433(5, 3r4)

Question Number : 27 Question Id : 544734507 Display Question Number : Yes Is Question
Mandatory : No
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Ifin AABC.atanA +htanB = (a +b) . tan (%). then which of the following holds?

820230 ABC & atanA+ btanB = (a+b) . tan (%) 900d & S0 T’ B
Q2B

Options:
].\3;? A - B

4$@A>B

Question Number : 28 Question Id : 544734508 Display Question Number : Yes Is Question
Mandatory : No

fa=i+j+kb=i-]+2kand T=x7+(x-2)]j — kandif the vector  lies
in the plane of vectors @ and b and then ‘v’ equals

T=0+]+hb=1-]+2k totwed) doamd T =x1 +(1-2)] - ko6%
Gotd x =

Options:

1.*0
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Question Number : 29 Question Id : 544734509 Display Question Number : Yes Is Question
Mandatory : No

Letu = 2i + j and v = 3i — 5. Consider three points P, Q and R having the position vectors

5 7 9 , _— . :
(;) i =& (;) i— jand (z) i respectively. Among these, the points in the line passing

through u and v are

5
=204 ] 20000 v =3 5], P,Q,R & Dochoie 3 16800 36001 (7) b2 fi
7 9
(?) i—j Sodatn (Z) 0003, U 208050 v © Mot Th B 2 Dot Gotraw.

Options :

Only P and Q
| o P 208as0 Q Srgo

Only P and R

| P 2080 R arg

Only Q and R
| Q20008 R RO

AllP,Q and R

, « Q200 R

Question Number : 30 Question Id : 544734510 Display Question Number : Yes Is Question
Mandatory : No
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The point of intersection of the lines joining points 1 +2 j.2 7 — jand—1i, 2 1 is

T4+27.270— ] 28050 —1, 2 1 Docdws 92 G20 Mokd Dotdd)

Options:

Question Number : 31 Question Id : 544734511 Display Question Number : Yes Is Question
Mandatory : No

(@xB)'+@-B)’ .
The value of UG
2(@) (p)

(@xB) '+ (@-5)°
2 2 =
2 (@)"(b)

Options:

1.% ¢
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I\JIH

A
#
»Plr—'-

Question Number : 32 Question Id : 544734512 Display Question Number : Yes Is Question
Mandatory : No

b

Leta = ?—] b= } —kand? = k- i.1fd isaunitvectorsuch@ -h =0 =
[FF—]tllexld—is
T=i—-],b=]— kooBoswT =k— i 0030 d crdS0d8 T b =0=

Options
i+71-k
e V3
i+7-2k
+ > —
2. o
i+7+k
3% V3
i+742k
2 —
4. % b

Question Number : 33 Question Id : 544734513 Display Question Number : Yes Is Question
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Mandatory : No

Let u and v be two nonzero vectors in R with the intermediate angle 45°. Then |u X v | =
R® & u 2080k v & Gocy HR[A6 RAIV wod6 45° Eractn w0, | u X v | Dewdsd
DATHHB

Options:

| ® lul [v]

5 % 2 |u| ll;’l

3\4? u.v

4 % lul + |v|

Question Number : 34 Question Id : 544734514 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane passing through 3i + 2j + 6k and parallel to the vectors 2i + j + k
andi—j+kis

3i +2j + 6k Docdsdyv Mot D'Ar 2i +j + k 08030 1 — j + k 0L DAToBEANT ol
BOAD HERAD DB

Options:
x+y+z=11

1. %

5 & 2x —y—3z=-14

5 % 2x —y+z=10
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x—2y+3z=17

4.%

Question Number : 35 Question Id : 544734515 Display Question Number : Yes Is Question
Mandatory : No
Given @ =31 -], b =27+ j- 3kandb = EI + E; where b—1 is parallel to a” and bj

is perpendicular to @ then b, is equal to

—-)

@=31-],b=20+] -3k b0 e&%0® b = b; + b, wabjer 7 &

DATOBEITT by O3 T & LordN b, HB% o b, =

Options :

= P

L T— 0
v 2 2

1 3 . =

e B + 3k
2.% 7 B

1 < S
- z+21+3k
3. %

1 3 .. -

—if == j—3k
4.% 2 2

Question Number : 36 Question Id : 544734516 Display Question Number : Yes Is Question
Mandatory : No
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If the mean of a data x" is 10 and if all the observations are multiplied by 2, then the mean of
new data 1s

08 (grod MG T 030 10 0Pdoed. Ggros DIV 28)8) TV 2 &
(eSS STy §8 65570 0B Jead

Options:
), % 30

, « 15

3gg50

4 v 20

Question Number : 37 Question Id : 544734517 Display Question Number
Mandatory : No

A coin is tossed until a head appears or it has been tossed thrice. Given that head doesn’t

appear on the first toss, the probability that coin tossed thrice is

6] SR0E 68 T QP DTHADVR) QY HAV[HOL 2,8 TEAN JMEIVTE.
QG S &3] SHEAYE, JAPd FH THEIN DS VoS Jod?

Options:
2

v 3

1
2. % 3

-P-|w

AP EAPCET 2021
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Question Number : 38 Question Id

Mandatory : No

AP EAPCET 2021

: 544734518 Display Question Number : Yes Is Question

Box-I contains 3 cards bearing numbers 1, 2, 3: Box II contains 5 cards bearing numbers

1,2,3,4,5 and Box III contains 7 cards bearing numbers 1,2,3,4,5,6,7. One card is drawn at

random from each of the boxes. If x; be the number on the card drawn from the i" box. i =

1,2, 3. then the probability that x; + x, + x5 15 0dd 15 equal to

2068 begé‘ 1,2, 3 Rogd{erie) 5°6e0 Botidd bgé‘ 1,2,3,4,5 dom{evfio s°E0. Surdsd

bgeS‘ 1,2,3,4,5,6,7 Rogjrurie 5°6e0 eélb. iy 20 2008 D SO 1; T L0

X1+ + X3 89 Do) SRS RoerS(S dod?

Options :
23

]s@ms

53
> ¢ 105

43
105

33
105

Question Number : 39 Question Id

Mandatory : No

: 544734519 Display Question Number : Yes Is Question
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X
The range of a random variable X is {1,2,3 .....}and P(X = x) = il forx =

1,2,3,...... Then the value of C s

X

i o
8 Qirc)3\8 B X g, T {1,2,3....} 28 P(X =x) = = L23s
a8 ¢ g wa&s Q0 dodh?

Options:
% 0

In (2) ( where In — denotes the natural log )

In (2) ( In — e d°2 log )
3.Y

In (3) ( where In — denotes the natural log )
4% In (3) ( In — e D2 log)

Question Number : 40 Question Id : 544734520 Display Question Number : Yes Is Question
Mandatory : No

Tom and Jerry play a game of alternately throwing an unfair coin. First one to get head wins. If
Tom starts the game, he has 62.5% chance of winning the game. Suppose this coin is tossed 5

times. then the probability of getting exactly 3 heads 1s

EP0 08050 BeD 2,8 FES THI) 2,80 B6TS 2860 AEDD HOTFHSE” SorT
2508 &) D68 6 NI &I, ) €50 ABWNES BB H) Roer(d
62.5% By TE) 5 I A6 3 I &3] TS VoS

Options:

144
| @ 625

AP EAPCET 2021
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Question Number : 41 Question Id : 544734521 Display Question Number : Yes Is Question
Mandatory : No

A point moves so that the Sum of its distances from (e, 0) and (—ae, 0) is 2a. then the

equaton to its locus where b% = a®(1 - %) is

(ae,0) SoB0sw (—ae, 0) Dot Mok 28 DotdY) o Groee Awddw 2a eoakjer

Dotded) SIS 0. 90D Do) DotaDEH L0 b2 = a¥(1-e?)rr
'z;r‘.’)‘)a*’d).
Options:

e 2

E_Y _y

X y
2\3? a2+b2—
x2 2

Ll
wa a

2 2

y X

B o
4, %

AP EAPCET 2021
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Question Number : 42 Question Id : 544734522 Display Question Number : Yes Is Question
Mandatory : No

The point to which the origin should be shifted in order to eliminate the x and y terms from the
equation 9x® +4y* + 10x + 12y +1=01s

9x% + 4y + 10x + 12y + 1 = 0 &80 &30 ¥ BN ¥ HEFOR & Do B
S0rDoER)R DAToSE LI G0 D Dod) IFL SrGITD?

Options:

Question Number : 43 Question Id : 544734523 Display Question Number : Yes Is Question
Mandatory : No

If A(1,3) and C(7,5) are two opposite vertices of a square. then find the equation of a side
passing through 4.

A(1,3) 208050 C(7,5) & 2,8 58000 G308, Dot (B3¢ FTen ©and, 4 ot
T 28 o2 PVLOTD) HBoEAY.

Options:

xX=y
1. ® J
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% X—2y+1=0

3.$ .I'—3}’+8:O

Lv2xX—y+1=0

Question Number : 44 Question Id : 544734524 Display Question Number : Yes Is Question
Mandatory : No

‘C” is the centroid of the triangle with vertices (3,—1). (1,3) and (2,4). Let ‘P’ be the point
of intersection of the lines x + 3y — 1= 0 and 3x — y+ 1 = 0. Then a line which passes

through both pomts C and P would also passes through the point

(3,-1).(1,3) B0k (2,4) 08 A6\&E Ggoand Sogerddw " x +3y-1=0
208050 3x — v+ 1 = 0 8200 Dotd Hotded) ‘P’ o, € 28050 ‘P’ Dotodyw ot
Tad wé NO¥OD) Gol Do) .

Options:
p v (79,76

3 % (7,6)

% 9,7

Question Number : 45 Question Id : 544734525 Display Question Number : Yes Is Question
Mandatory : No
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The distance of the pomnt (1,2) from the line x + y + 5 = 0 measured along the line parallel
to 3x —y = 7 1s equal to

3x — y = 7 6 DAToBEINT God 3 DA (1,2) Dodod) Mod ¥ +y+5=0%
(0 GT6AD

Options:
1 E 4\"IE

5 % 40
3 ¢ \-‘%

4 B 2\/’2_0

Question Number : 46 Question Id : 544734526 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a line which passes through (2 cos*(6), 2 sin® (9)) and 1s perpendicular

to the line x cos(#) — y sin(f#) = 2 cos(26).

xcos(8) — ysin(f) = 2 cos(26) AEFBDL Lot Gobur., (2 cos’(6),2 sin3(0f)) Do)
ot Jah H6¥ED DSBS

Options:

x sec(6) + v cosec(8) = 2
1.
, x cosec(f) + ysec(8) =2

3 % xsin(@) + ycos(f) = 2

AP EAPCET 2021
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g % X cos(8) + ysin(8) = 2

Question Number : 47 Question Id : 544734527 Display Question Number : Yes Is Question
Mandatory : No
The value of p for which the equation x% + pxy + y? — 5x — 7y + 6 = 0 represents a pair of

straight lines 15

xE 4 pay +y7 = 50— Ty + 6= 0 2o a8 Saratomd) ArdR p deos

Options :
5

2

1.¢

Question Number : 48 Question Id : 544734528 Display Question Number : Yes Is Question
Mandatory : No

If one of the lines represented by ax? + 2hxy + by? = 0 passes through (2, 3) and the other

passes through (4,5). then a + 2h + b equals

ax? 4+ 2hxy + by* =0 RO¥3rasr) S0 ardod B0’ 28 AEF0D (2,3) Dot
oot ', 2080k 8% P60 (4,5) Doddd) Mot ', a + 2h + b desd

Options:

1.330

AP EAPCET 2021



AP EAPCET 2021

Question Number : 49 Question Id : 544734529 Display Question Number : Yes Is Question
Mandatory : No

The equation of the pair of straight lines parallel to x-axis and touching the circle x* + y* —

bx—4y—-12=01s

x4+ y? = 6x — 4y — 12 = 0 H5°0) DR 1-0FS DATIEIT ol Fgrasur)
2VERAN

Options :

Lo Yi-4y-21=0

e V2+4y—21=0

2.

3. % y2 —4y+21=0
o Vit+4y+21=0

4. -

Question Number : 50 Question Id : 544734530 Display Question Number : Yes Is Question
Mandatory : No
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If the lines represented by the equation 2x% — pxy + 2y = 0 are real, then the value of ‘p’

lies 1 the mterval

20% = pxy + 292 = 0 2EGAN roid ared TR Saen ealiaD P’ L HoWE
DRVIL LoBE0

Options:

2.% [—414)

4_% (_4'4]

Question Number : 51 Question Id : 544734531 Display Question Number : Yes Is Question
Mandatory : No

The points where the circle x* + y2 — 3x — 4y + 2 = 0 cuts the x-axis are

X%+ y? =31 — 4y + 2 = 0 800 x-oT) DotoPHV 3¢ Dot R0B
Options:

L % (2,0) & (3,0)

L« (0,2 & (0,1)

AP EAPCET 2021
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Question Number : 52 Question Id : 544734532 Display Question Number : Yes Is Question
Mandatory : No

The center and radius of the circle x? + y® + 8x + 10y — 8 = 0 respectively are and
units

x2 4y 481 + 10y — 8 = 0 e HyES Sogidn L8080 353"8"”’ ST
080 oS DeD

Options:

;% (—8,-10), 8

Question Number : 53 Question Id : 544734533 Display Question Number : Yes Is Question
Mandatory : No

The poles of the tangents to the circle x2 + y? = 4 with respect to the circle (x +2)? + y? =
8. Lie on

(x +2)% 4y =8 584w d@s 1% 4 y? = 4 5,508 o 016,800 670 Dockddean

Options:

| v yv2+8x=0

S % x*+8y =0
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Question Number : 54 Question Id : 544734534 Display Question Number : Yes Is Question
Mandatory : No

If the power of the point (1, 6) with respect to the circle x% + y* + 4x — 6y —a = 0 is ‘=16’

then ‘a’ equals

¥+ y?+dx -6y —a =0 880 B (1,6) Dotkos) 08), Dochys§ “~16” o,
‘@’ Qe

Options :

1335

L w11

Question Number : 55 Question Id : 544734535 Display Question Number
Mandatory : No

: Yes Is Question

The equation of radical axis of the circles x% + y? +4x + 6y +7 = 0 and 4x% + 4y® + 8x +
12y-9=01s

2+ y? 4 dx 6y +7 =0 0805w 4x% +4y% +8x + 12y — 9 = 0 S50 Jarergaw
EGEA
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Options:
. x+y+1=0

, % 8x+12y=0
L v 8x+12y+37=0

,w 2XH3Y+7=0

Question Number : 56 Question Id : 544734536 Display Question Number : Yes Is Question
Mandatory : No

The radical axis of the circles S;: x2 + y? —4x + 6y — 10 = 0 and Sp: 2% + y% + 2x — 6y +
2 = 0 cut the circle §; in

Spx? 4y —4x 46y — 10 = 0 8odw Sy: ¥ +y2 4+ 2x — 6y +2 = 0 HyEo
QPPEAD §; HTR 96 Q0L

Options:

two real and distinct points
P Botd 38;356()“ TS Do

one real point
5 W8 T°RD DoY)

mmaginary points

3 ® 2953700 DotYHV

can’'t be determined

. :)g"boéeja.u
4,

AP EAPCET 2021



AP EAPCET 2021

Question Number : 57 Question Id : 544734537 Display Question Number : Yes Is Question
Mandatory : No

The point of intersection of the latus rectum and axis of the parabola y? +4x + 2y -8 =013

y? 4+ 2y - 8 = 0 DOd0kin ding) THvoto 08050 B8R Bt Do)

Options:

1.%

Question Number : 58 Question Id : 544734538 Display Question Number : Yes Is Question
Mandatory : No

If the focal chord of the hyperbola subtends a right angle at the center. then its eccentricity 15

28 DT VALY T°E) & &R Sodo 96 ot g ) 2)636?9. & AVT"HVAN S,
&3) 08

Options:
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\/g—l
e:
2.% 2
\,’;§+1
e:
3.v 2
V3+1
e:
4. % A

Question Number : 59 Question Id : 544734539 Display Question Number : Yes Is Question
Mandatory : No

The direction cosines of the line joining the points (2,4 ,-5) and (1,2, 3) are
(~2,4,-5) Qoo (1,2,3) Docopriy $80 B awg) &5 §pdow

Options :
3 —2 8
(

L V77 N7T V77

)

5 ® <»\s'77 V77 \77)
. (1,0,0)
=3, P 8)
4 % 7 i i i e

Question Number : 60 Question Id : 544734540 Display Question Number : Yes Is Question
Mandatory : No
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The points (2,3 ,4).(—1,—2,1) and (5,8,7) are
(2,3,4). (=1,-2,1) 208050 (5,8,7) DocoHen

Options:
collinear
233

1.v ‘

vertices of a right-angled triangle
2,8 worfes IR FTeW

vertices of an equilateral triangle
208 DIVEPITV SR T

vertices of an isosceles triangle
208 DIVBETIN ST T
ol

Question Number : 61 Question Id : 544734541 Display Question Number : Yes Is Question
Mandatory : No

The sum of ntercepts of the plane 4x + 3y + 2z = 2 on the coordinate axes 1s

4x + 3y + 22 = 2 030 JEFISTTOS BoL BoBELTY VBBV

Options:
13

¥ 6

13
o« 32
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Question Number : 62 Question Id : 544734542 Display Question Number : Yes Is Question
Mandatory : No

11x3 — 3x + 4 a
If lim = — then the value of a + b equals
x—=0\13x3 —5x2 -7 b

11x3 — 3% + 4 a
lim =— oS a + b dend
13x3 —5x2 -7

x—=0 b

Options :
;% 13

L x 13

v 24

Question Number : 63 Question Id : 544734543 Display Question Number : Yes Is Question
Mandatory : No

. (1 —x)(1 —x%) e ene (1—a™®) o
xl-l+nl f(1 —2)(1 —x2) veeene 1—xv¥ n e

Options:

2nP

® n
1.

2.V
AP EAPCET 2021
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Question Number : 64 Question Id : 544734544 Display Question Number : Yes Is Question
Mandatory : No

"y loge(l + x*(tan x) ‘ . _
Iff(x) = = . X # 015 to be continuous at x = 0, then f(0) must be equal to
- loge(l +x?(tan xi)) | .
flx) = o X # 0 D00aw x =0 56 w&)&‘_)alan sTvoll, (0) &
Dgg::omaoba I3V
Options:
v 1
2. % 0
1
3 % 2
4% 1

Question Number : 65 Question Id : 544734545 Display Question Number : Yes Is Question
Mandatory : No
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| s v [
If x =sec —cosf and y = sec” § — cos™ 6, then (x* + 4) (a) e

d 2
x = secf — cosf L08ak y = sec™§ — cos™ § wond, (x2 +4) (d_f) o

Options:
- n(y +4)

, n®(v*+4)
3 n(y +2)

Question Number : 66 Question Id : 544734546 Display Question Number : Yes Is Question

Mandatory : No

2 3
> A X
If f(x)=|1 2x 3x2|.thentheratiof"(x): f'(x) =
0 2 6x
x x* &3 |
fO)=[1 2x 3x%| @d. f"(x): f'(x) QB =
0 2 6x
Options:
Rl
5 ® x2 i x
3 % 3x + 2
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4% 07X

Question Number : 67 Question Id : 544734547 Display Question Number : Yes Is Question
Mandatory : No

4x d
). then i 2
dx

B s — ) -1
If y=1log.,,tanx — log cotx + Tan (4_x2

Stanx

= ' : 1 [_4x
y = log .y, tanx — log,, . ..cotx + Tan 3

Options :
1
4+x7?

Question Number : 68 Question Id : 544734548 Display Question Number : Yes Is Question
Mandatory : No

If y=sin(sinx)and y" + f(x)-y"+ g(x) -y = 0.then f(x) - g(x) =
y = sin(sinx) 08030 y"' + f(x) -y +g(x) -y =0eo0d. f(x) gx) =
Options:

AP EAPCET 2021
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1 .
"5 sin(2x)
1.Y

= cos(2x)

P

2. %

- sin(2x)

L% cos(2x)

Question Number : 69 Question Id : 544734549 Display Question Number
Mandatory : No

A spherical iron ball 10 em in radius 1s coated with a layer of ice of uniform thickness. which
melts at a rate of 50 cm® /min. When the thickness of the ice is 15 cm. the rate at which the

thickness of ice decreases 15 cm/min

10 em 5"53"83” (0 28 Ferse62) ot DEBS oo’ ohd o
SrADHEEDE. &8 2oty ATAS 50 cm® FRYyR SO 8. &8 St Bocsw
15 cm €:) 20y, & Aotk Srixee) G0 IS cm

Options:
5

]Qén

AP EAPCET 2021
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4333671'

Question Number : 70 Question Id : 544734550 Display Question Number
Mandatory : No

Find the minimum value of 2x + 3y when xy = 6.
Xy = 6 WONIYYED 2x + 3y AW, SN DRVH

Options:
. ® 9

, v 12

Question Number : 71 Question Id : 544734551 Display Question Number
Mandatory : No

The volume of a spherical balloon is increasing at the rate of 30 cc per minute. Find the rate of

change of surface area of the balloon. when its radius is 6 cm.

28 fvseg 626 e TS RO AT 30 cc AENY 200 08, &
AWely a:sb"ga» 6 cm T° G3) )b T G0V PT(SWS” 60y Bew

Options:

- 5 cm®.min™!

AP EAPCET 2021
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, 30 cm?.min~1!

3 v 10 em?. min~ !

2 1

% 20 em®.min~
4.

Question Number : 72 Question Id : 544734552 Display Question Number : Yes Is Question
Mandatory : No

o i 2 1 2 '
If g(x) = zf(3x > 1) +7f(1 - ) .Y x € R, where f"(x) > 0.V x €R. Then g(x)

is increasing in the interval

‘ 1 1 .
V x€ER. g(x) =zf(3x2 - l) - ?f(l - xz). WEY xER f"(x) > 0. wowd. g(x)

a&‘@eamcm)g 9030

Options :

AP EAPCET 2021
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Question Number : 73 Question Id : 544734553 Display Question Number : Yes Is Question
Mandatory : No

If the function f(x) = 2x® — 9ax® + 12a®x + 1 attains its maximum and minimum at ‘p’ and

‘q’ respectively such that p® = q. then ‘a’ equals

(x) = 26° = 9ax® + 12a%x + 1 H00DHBW ‘P’ DBAKY ‘G © $¢ SR (182 B0k
@ (o}
SNARRGEY Jod. 2Bosn p? = g LA{Er Gobd. ‘@’ Jend

Options:

1.% D

Question Number : 74 Question Id : 544734554 Display Question Number : Yes Is Question
Mandatory : No

Iffiex)=x+ % ,then f(x) =
; 1 )
f’(-\') =x+ T 2200 ,f(\) =

Options:

L% x% +log(x) + ¢

x2
5 + log(x) + ¢
2.Y

AP EAPCET 2021
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;% X + log(x) + ¢

s -
= + log(x) + ¢
4, %

Question Number : 75 Question Id : 544734555 Display Question Number : Yes Is Question
Mandatory : No

Iff(x)= RN e then its anti-derivative F(x) = .given F(0) = 4
1 ;
flx) == —————— T Ardotedd, f(x) g, A5 F(x) e 00ak
(cos®x)V1 + tanx

F(0) = 4 ®ond, F(x) =

Options :
. v1+tanx +4
1.

)

% (1+tanx )3/2

2. %

v 2(\/"1 + tanx + 1)

4% V14 tanx + 2

Question Number : 76 Question Id : 544734556 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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If the primitive of cos(log x) is f (x){cos( g(x')) + sin(h ( \'))} then which among the
following is true?

cos(logx) a0g), DrseR f (:x){cos(g(xi)) - sin(h (x))} £ DATFIQB, WY\ 30®
TS B dadw?

Options:
=k
Hx) =—
1% =
- 1
ff(x)=—
2.V 2

;% 9 (0 =log(x)

h(x) =

N|><

4.%

Question Number : 77 Question Id : 544734557 Display Question Number : Yes Is Question
Mandatory : No

f secx q
Jsin(2x +6) + sin 6

Options:

. J(tanx + tan8) secd + ¢
1.

> J2(tanx + tan @) sech + ¢
2.

, J2(sinx +tan ) sech +c

AP EAPCET 2021
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4 \./Z(:cos x+tanf)secl + ¢

Question Number : 78 Question Id : 544734558 Display Question Number : Yes Is Question
Mandatory : No

/4

w
If f log(sinx) dx = 8k ,then f log(1 4+ tanx) dx =
0 0

o /4
’- log(sinx) dx = 8k e003 j lopll 4 anx)de=.. . .
0 0

Options :

| w K

Question Number : 79 Question Id : 544734559 Display Question Number : Yes Is Question

Mandatory : No
1

1
If [ "1 -2)"dx =k J x"(1—=x)™ dx ,then the value of k equals
0 0

1 1

’ x"(1—-x)"dx =k J X1 —x)™ dy 0and, k devd
0 0

AP EAPCET 2021
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Options:

m
1.%

Question Number : 80 Question Id : 544734560 Display Question Number : Yes Is Question
Mandatory : No

¢ v v m — y "
The equation of the curve passing through the point (0, I) and satisfying the differential

equation (e* tany) dx + (:(1 + %) sec? y) dy = 0 1s given by
(0, %) Docad) ot Tdr. (e¥tany) dx + ((1+ %) sec? y) dy = 0 &3 ©I¢VR
RSO SO H$A0 AN, PSRN S,
Options:
v x o
- (14+eX)tany =2
5 % 1+e*=2tany

« 1+e*=2secy

4 (1+e*)tany =k

AP EAPCET 2021
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Physics
Section Id : 54473411
Section Number : )
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response :

Question Number : 81 Question Id : 544734561 Display Question Number : Yes Is Question
Mandatory : No

Which year was declared as the International year of physics?

2 RoDBBBV0 oBT"AOD F'AS TR VoDBGAT DESEE?

Options :
% 2002

2003

; v 2005

% 2007

Question Number : 82 Question Id : 544734562 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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One angstrom (A) 1s equal to:
28 B30AF (A) Dewd BIS DITHAN?

Options:

- 107 mm

5 1077 mm

3 1078 mm

4 % 1077 mm

Question Number : 83 Question Id : 544734563 Display Question Number
Mandatory : No

An object is moving with a uniform acceleration which is parallel to its instantaneous direction

of motion. The displacement(s) — velocity(v) graph of this object is

25 DY) :omésdso:mg 16879)«6(1&. Q) S(6ea:0 B3 3870 WO BIL VATeSEAT
&) 8. SRV aWE), gagoaa» (s) = Sfdw (v) T

Options:

3‘ o
T v
2. %

AP EAPCET 2021
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w

0 E
A
¢
0 e
3.Y ;
F
5
0 v
%
4,

Question Number : 84 Question Id : 544734564 Display Question Number

: Yes Is Question
Mandatory : No

A hiker stands on the edge of a cliff 490 m above the ground and throws a stone horizontally

with an initial speed of 15 m.s™*. The speed with which it hits the ground is

B3P PAVoG 490 M AL S0t orDAVE 28 TT0NN §82 DATFeISA™ 15 m. s~
D6208 DVOTE. BB ZP T S6Aw

Options:

| v 99 m.s !

, % 101 m.s t

AP EAPCET 2021
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3 % 103 m.s™?

L% 105 m.s™!

Question Number : 85 Question Id : 544734565 Display Question Number : Yes Is Question
Mandatory : No

Two paper screens A and B are separated by 150 m. A bullet prerces A and then B. The hole in

B 1s 15 cm below the hole in A. If the bullet is traveling horizontally at the time of hitting A.

then the velocity of the bullet at A is: (g = 10 m.s™2)

Goc> iy B0 A S0B80kw B e 150 m cir6sne” 6 dosorct &) aw. 8 eng A
200050 8676 B © 56 (0r30E8) . A GoSAL 15 cm Sors B oty 6)8. A & &
3 DLODANHL LT £82 VATIESNT DOLTEIordd0NS A ;56(5’) L) i3 odh?
(g=10m.s7%)

Options :

. 100v3 m.s™ !

5 % 200v3 m.s7t
s * 3003 m.s?

. 5003 m.s !

Question Number : 86 Question Id : 544734566 Display Question Number : Yes Is Question
Mandatory : No
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A 30 kg slab B rests on a frictionless floor as shown in the figure. A 10 kg block 4 rests on
top of the slab-B. The coefficients of static and kinetic friction between the block A and the

slab B are 0.60 and 0.40 respectively. When block-A is acted upon by a horizontal force of

100 N. as shown, find the resulting acceleration of the slab-B.(g = 9.8 m.s™?)

100N
+—

F A (10kg)

B (30 kg)

Floor

30 kg b i DuE HRJNE" Erod W 6rd 0 &) 8. 10 kg LY o &)
DS AW ?8866 Go®. (e} 0OAKD DSV ¢ 78@5 206t easan 0.60 wand (ds
2061 040, 10 kg © 623 100N © §32 087086 O30S HABRB. g = 9.8 m.s™2
od HuS o), IS SRS

Options :

-2
. 098 m.s
% 147 m.s™?

2

« 152 mos™2

L 1.31 m.s ™2

Question Number : 87 Question Id : 544734567 Display Question Number : Yes Is Question
Mandatory : No
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A ball of mass 3 kg. moving with a speed of 100 m. s, strikes a
wall at an angle 60° (as shown in figure). The ball rebounds at the
same speed and remains in contact with the wall for 0.2 sec: the

force exerted by the ball on the wall is:

3kg §50°3 (o a0d 100 m. 5™ Bfd0d Hosredr 60°
Endnd sy ¢8od. (Huane’ trddew) 0.2 sec i Fed
y0)8° G, 08 3508 w0d DR0EH HairdedR. e docs
208 PArHoB VLW dodh?

Options:
| » 1500V3 N

, % 1500 N

- 300V3 N

433300N

Question Number : 88 Question Id : 544734568 Display Question Number : Yes Is Question
Mandatory : No

An engine develops 20 kW of power, How much time will it take to lift a mass of 200 kg to a
height of 40 m? (g = 10 m.s™2)

w5 QPoRA bomgsa» 20 kW. 200 kg &5(0°3Q 40 m £ oS DSEPAS dodh STV
D40R? (g = 10m.s7%)

Options:
1 o 4s

23@53

AP EAPCET 2021
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33388

10 s

Question Number : 89 Question Id : 544734569 Display Question Number : Yes Is Question
Mandatory : No

Two bodies having kinetic energy in the ratio 4 ¢ 1. are moving with same linear velocity. The ratio of

their masses 15

28 6% S, Gocd S0ew 4 1 Anyds” 1538 800 &), T G3yorivw Ay dod?

Options :
| % 13 2

o x 11

3. v 8

4 0 124

Question Number : 90 Question Id : 544734570 Display Question Number : Yes Is Question
Mandatory : No

Water is falling on the blades of a turbine from a height of 25 m. 3 X 10° kg of water pours on

the blade per minute. If the whole of energy 1s transferred to the turbine, power delivered is:

25m g o &39S aIE) G A BEIB00B. 5O AddDS B e 3 X 10° kg A

25628008, 2009300 $49 ) DO Bodod S, e B 30830 Jos?

Options:

AP EAPCET 2021



| v 12250W

, % 16250 W

3 % 8250 W

4 % 20250 W

Question Number : 91 Question Id

Mandatory : No

AP EAPCET 2021

: 544734571 Display Question Number : Yes Is Question

As solid sphere of mass ‘M’ and radius ‘R’ spins about an axis passing through its centre making

600 rpm. Its kinetic energy of rotation is

M 303, ‘R J"é&g.‘.m (0 208 IO PAN T o Mot J'ah @Eo DGorT 600 rpm
S6E garren Sd) &, T o (08§ dod?

Options:

212

80w MR

Question Number : 92 Question Id

: 544734572 Display Question Number : Yes Is Question

AP EAPCET 2021



AP EAPCET 2021

Mandatory : No

Two fly wheels A and B are mounted side by side with frictionless bearings on a common shaft.
Their moments of inertia about the shaft are 5.0 kg.m? and 20.0 kg.m? respectively. Wheel A
is made to rotate at 10 revolution per second. Wheel B, initially stationary. 1s now coupled to A

with the help of a clutch. The rotation speed of the wheels will become

A $)8050 B &9 Boch) SIS w8570 20683 G FPEREn RBWY 2068 G 880k 3% 08,
08).% 010G, BERD DOV T8 2Eq s ST 5.0 kg.m? S0asw

200 kg.m?. 8:3% A 53 RS0 Forren S0oB. 20 0 2’ 68) 8w B &5
RPODANS A § 2SBAD LB, B5V 08 DA dodh B)B0H?

Options :

| ® 24/5 rps

, 0.5 rps

% 2 rps

4% 3 rps

Question Number : 93 Question Id : 544734573 Display Question Number : Yes Is Question
Mandatory : No

In case of a forced vibration. the resonance wave becomes very sharp when the:

QPGS SoDTRV DODAY’, DY WRVTE BBTAS DISIN Dd.)c‘..)éoo&?

Options:
quality factor is small

. (063 PRSI DY) D G&R) G2
1.

2.V
AP EAPCET 2021
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dampening force 1s small
wbd;g VDD DL O GR) QDG

restoring force is small
Qyé:g“.)s VB BEY) D ER) DD

applied periodic force is small
BRAVD0D B0 WV BEY) O GR) Qe

Question Number : 94 Question Id : 544734574 Display Question Number : Yes Is Question
Mandatory : No

If the earth stops rotating in its orbit about the sun, there will be variation in the weight of our

bodies at
ArdD e S516° ABorBOR) Zrdd ) Fmdw BHid SWYY TR A
B3

Options:

Equator
B 06 (o F:3 5

60° latitude
60° e9%roB00 ag

Poles
BTPw D6
@D

Nowhere
o)stz" 5°C0
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Question Number : 95 Question Id : 544734575 Display Question Number : Yes Is Question
Mandatory : No

At what depth below surface of the earth. the acceleration due to gravity will be half its value

of that at 1600 km above the surface of the earth?

& &00H Aod 1600 km S &) AMSBIGRHN Je0HS” i Jend
0TS FP GBSV Aod dod S VS bvb@)?

Options:
v 43X10°m
, % 319X 10° m

;% 1.59 X 10° m

4% 55X 10° m

Question Number : 96 Question Id : 544734576 Display Question Number : Yes Is Question
Mandatory : No

The dimensions of stress 1s

DHerDE S :}’d)éer

Options:

. [ML1T7?]

L« [ML3T]

AP EAPCET 2021
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333[MLZT—Z]

433[M173T”]

Question Number : 97 Question Id : 544734577 Display Question Number : Yes Is Question
Mandatory : No

What causes the free surface of a liquid to have minimum area?
B9800 WG, G EHBSVAN I DT S9N GoktrIS SEmBD Ae?

Options :
Viscosity

L)
o .og_gej

Surface tension

SOBJ(S
2.¥

Diffusion
3 ® DRGE

Pressure
H%mmw

Question Number : 98 Question Id : 544734578 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): The upper surface of the wing of an aeroplane is made convex and the lower

surface 1s made concave.

Reason (R): The air currents at the top have smaller velocity and thus less pressure at the bottom

than at the top.

NBBA0 (4) : @8 QRN a0E), 38), D SVIND LoFSEAD M) $08 SOV
DEPSBAN TR0 S8 B,

560 (R) : 9 parifen D ardand’ I, ST $9R Gotron. ©okIBVM P e
Sotd $ots DAL B 5.

Options:

Both A and R are true and R is a correct explanation for A
A 208030 R Go& 28 e9008. R, A 85 289005 D068

Both A and R are true but R is not a correct explanation for A
A 208030 R Bodr 28 20050. R, A £ 289005 DH68 5260

A is true. R 1s false

v A D0 0038, R 20 90008 5760
3.

A 1s false. R is false

. A 508030 R 28 290030 5°)
4.

Question Number : 99 Question Id : 544734579 Display Question Number : Yes Is Question
Mandatory : No
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A glass vessel of volume V, 1s completely filled with a liquid and its temperature 15 raised by
AT. What volume of the liquid will flow over. if the coefficient of linear expansion of glass is

tg and coefficient of volume expansion of the liquid is y,

V, 2080030 SOAD 28 e 1@ w8 ¢S QPO Jodaddn. & g awg) el
AT Dotsedd. e s, g_% a°5§° @ DHSAW @y O G0 GRS WNV0TE
T (hrgin y, and dod ¢dw TohThdvon?

Options:
_ VAT (v, —3a,)

, V, AT (3a; —v,)
" (y, —3a,) AT

, (Bag — yL) AT

Question Number : 100 Question Id : 544734580 Display Question Number
Mandatory : No

A Carnot engine whose heat sink 1s at 27 °C has an efficieny of 40 %. By how much should its

source temperature be changed so as to increase its efficiency to 60 %?

40 % 35S $DAD w8 ?6‘1 0300300 CE], VoS e‘gga 27°C & a3, LS 60 %
390 Do) B0 CWE) egfgw Ddod STy Goted?

Options:
| ¥ 250 K

, » 100K

AP EAPCET 2021
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. 500 K

, » 350K

Question Number : 101 Question Id : 544734581 Display Question Number : Yes Is Question
Mandatory : No

A diatomic gas 1s heated at constant pressure, what fraction of the heat energy 1s used to merease

the mternal energy?

?gd@a NI 36 w8 BROoATSE TaDY) Db BobLds, ©odts 35 DotrdS &1 3
oOs) Qodd em":’)l GOS0 ?

Options :
3

« 5

Question Number : 102 Question Id : 544734582 Display Question Number : Yes Is Question
Mandatory : No
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An 1deal gas is taken from state-1 to state-2 through

optional path 4, B, C and D as shown in the P-V diagram. A
Let Q, W and U represent the heat supplied, work done P 4
and change internal energy respectively, then .

28 Ud% JTea50) ?g@ 1 &ooct ‘?8(’3 28 PV e

5006 e Desedoor A, B, € 308ai D argawe D
oG 06 Tudss. 0. I ooty U e gaosor (O0) v
TAHE oBod G, 200D DI DB Bos0s

38 SV AP, B\

Options :

. Qa—Qp =Wy —Wp

, % Qs —Wp > Q¢ — W,

4%QA<QB<QC<QD

Question Number : 103 Question Id : 544734583 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of an ideal gas is increased from 27 °C to 127 °C. calculate the

percentage mcrease i its Vems:

28 G0 TAWI) A0S, e:;fgam 27 °C oot 127 °C &5 ou)d G- G308, M (5
&' DHOADGL TAS0

Options:
% 37%

AP EAPCET 2021
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. 11 9%
2.%

33 %

3.%

. 15.5%

Question Number : 104 Question Id : 544734584 Display Question Number : Yes Is Question
Mandatory : No

] T
Two waves are represented by: x; = Asin (wt F Z) and x, = A cos wt

Then the phase difference between them 1

x; = Asin (a)t + %) 00080 x; = A cos wt & ol Sboridnw D[ G &S0

Options :
T

1.*6

s
2. =&

Question Number : 105 Question Id : 544734585 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): The focal length of lens does not change when red light is replaced by blue light.

Reason (R): The focal length of lens does not depend in colour of light used.

DR (4): 60K T088 LRI N T0d TEIYE SLEI TF[S0 Ar6D.
Stao (R): SO0 T2{oB6:0 5708 Borbp BTEIE.

Options:

Both A and R are true and R is a correct explanation for A
A 208030 R Bod 08AHOY. 208050 R 936 A & 2800 Ddde

Both A and R are true but R is not a correct explanation for A
A 308050 R Botr 2800, 570 R 0938 A & 28a0d Dd6e s°6

A 1s true. R 1s false
A 200028, 529 R 08 52

Both A and R are false
> A 508030 R Godo® 2B8ADID 52

Question Number : 106 Question Id : 544734586 Display Question Number : Yes Is Question
Mandatory : No

The wave front is a surface in which

BEOTTHEAD 9D 208 £9AD eHddOAD

Options:

all points are in the same phase
. 28 6538° &R ) Dotoepen

AP EAPCET 2021
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there are pairs of points in opposite phase
SICETEY G535° &) ) DodrHen

there are pairs of points with phase difference (7 /2)
. (1/2) &7°Ec0 SOAD 20t Doddd)en
3.

there 1s no relation between the phases

. G3S Doiodan G

Question Number : 107 Question Id : 544734587 Display Question Number : Yes Is Question
Mandatory : No

Two charges 10 pC and —10 uC are placed at points A and B p

separated by a distance of 10 cm. Find the electric field at a point

from its mid-point.

|
|
‘P" on the perpendicular bisector of AB. at a distance of 12 cm i
i
|
Bott 5570 10 4C 20808 —10 1€ & 10 em 560 A |
|
|

10 E
$0808 B Dodoaw 56 Soodaberc: &) ow. AB 6hog), 6y . Ly
Dotoid) Aol 12 om Groaws’, oD vo dkBeGd Bp  Llem
P’ Do) I MSEEN) $08) o0

Options:

, 164x10° N.CT*
1.

. 284%x10° N.c™*
2.

5 % 82X 10° N.C*

4. v
AP EAPCET 2021
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41x%10° N.c?

Question Number : 108 Question Id : 544734588 Display Question Number : Yes Is Question
Mandatory : No

When a number of charged liquid drops coalesce. which of the following quantity does not change?

998 893S Srred WSS 288 $DHYS, & Sod TS D To3 Ar6E?

Options:
Charge
v R5D B0

Capacitance

EFHED
2. % 2

Electrostatic energy.

Yo Dmsé 33
3.% @ N

Potential

TEJaeS
4. % =

Question Number : 109 Question Id : 544734589 Display Question Number : Yes Is Question
Mandatory : No

What 1s the angle between maximum value of potential gradient and equipotential surface?
S"agow 2968 (18R eI Sudasw R3S &3S 2068 §t3:500 dodh?

Options:

1.% 0

AP EAPCET 2021
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SE]

Question Number : 110 Question Id : 544734590 Display Question Number : Yes Is Question
Mandatory : No

The conductivity of a conductor decreases with temperature because. on heating:

TLrESn ag) TirEs &T08E SH. JoBosIT SEBDIYYE

Options :

Atoms vibrates vigorously
£9£NAN DDBBALTT oot

Conductor expands
TOIPEAD a;g%“aomm

Electrons gain energy
VTR0 38D Tt

Electrons vibrate vigorously
DT DDOBBTT S00ti

AP EAPCET 2021
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Question Number : 111 Question Id : 544734591 Display Question Number : Yes Is Question
Mandatory : No

; ; i -4_2 -
Torque required to hold a small circular coil of 10 turns, 2 X 10 ™ m” area and carrying 0.5 A
current is the middle of a long solenoid of 10° turns per meter carrying 3 A current, with its axis

perpendicular to the axis of the solenoid is

26 ok 10° o, 3 4 DS parirandy 699 Tepsd Frans wee’
2% 107 m’ P 2080t 0.5 4 DS $9h, o wsan T ogsoe
DoSTT Gotar, 10 ot sDAR DR H57s6 ARV HE) Gostr8 TIYIN erG) Jody?

Options:

v 127 %1077 Nm

, % 6w x 10" Nm

3 47 %107 Nm

. 27 X107 Nm

Question Number : 112 Question Id : 544734592 Display Question Number : Yes Is Question
Mandatory : No

Two concentric coils each of radius equal to 4m cm are placed at right angles to each other. If
10 A and 24 A are the currents flowing through the coils, respectively. the magnetic induction

at the center of the coils will be

28),.8,6 4m cm a"sb“g:m $OA% Bocd D330g Brf e SEPIESE VoKV &) o,
B0t Bffo TR (oG PIarold (S HiFen 10 A 0Bk 24 4 wand, & O et
Sogaw Sl ol Qsoi)ﬂ"zjoé 208 Jodd?

Options:

AP EAPCET 2021
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v 13 X 10 °whm 2

, 12 X 10 >wbm ™2

;% 7% 10" *whm 2

4% 5% 10 *whm 2

Question Number : 113 Question Id : 544734593 Display Question Number : Yes Is Question
Mandatory : No

An a.c generator consists of a coil of 100 turns and is of cross-sectional area 3 m?. It is
rotating at a constant angular speed of 60 rad.sec™" is a uniform magnetic field of 0.04 T.

Resistance of the coil 1s 360 (. What is the maximum power dissipation in the coil?

28 a.c 2006 100 toiw $8AD 2,8 Arf ol 8ok 3m? eSS DTer)
DAY B. 0.04 T D568 oy 08 3w’ 60 rad. sec™ 20 Erioh ES 0b
g0 3008, Srictot) Aesaw 360 0. il (Y &mgg 6D Dods?

Options:
| & 720 W

, % 518W

| % 360W

, » 100w

AP EAPCET 2021
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Question Number : 114 Question Id : 544734594 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): Magnetic flux 1s a vector quantity.
Reason (R): Value of magnetic flux can be positive negative or zero.
QB B30 (4): ©OHIY 08 VTR wE VS T°3.
s*dteo (R): e.oo:bb"boé DT LA RV qs.s"éésm). mwa&sm oo AT .

Options:

Both A and R are true and R is a correct explanation for A
A 58030 R Godr DB, 08030 R 938 A § 2BADS DdHGeR

Both A and R are true but R is not a correct explanation for A
A 5080350 R Botir 08a300D, 570 R 0938 A & 280300 DdH6es 5o

A 1s true. R 1s false
A 28a0HO, 50 R 00 576

A is false. R is true
A %8 5760 57 R 08¢0

Question Number : 115 Question Id : 544734595 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021
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The output current versus time curve of a rectifier is
shown 1n the figure, The average value of output current

in this case 1s

Current

28 85@5&6:3 aR0g), A6 DTS, NN KD
D HLBE BrOTE. & ooy S0d’ g ’

W

Time
DT A0S M e

Options:

1.% 0

Question Number : 116 Question Id : 544734596 Display Question Number : Yes Is Question
Mandatory : No

The shortest wavelength of X-rays emitted from an X-ray tube depends upon
X-8660 TPFA0 Aot DeAEd X-S88:a00 SX)%} eﬁdod@_gs&‘m

Options:

Nature of the gas in the tube
TEH0S° TTOI0QY) GNE), DETDE0
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Voltage applied to tube
TS 0R0HPoDD STE

Current in the tube
TFA0S°D DS DI

Nature of target of the tube
TP VEDD ARVE), DETDAW

Question Number : 117 Question Id : 544734597 Display Question Number : Yes Is Question
Mandatory : No

If a photocell is illuminated with a radiation of 1240 A, the stopping potential is found to be 8 V.

then the wotk function of the emutter and the threshold wavelength are:

w8 5708 ey 1240 A 860t B0 $90% Dadeasd B P50EIIY, e
TOODS 8V 1 S 6. eond &grOed abog), 5 DA Bk ez

HOoART L0 SO
5 § _

Options:
. 2eV, 2000 A
1.

5 2eV, 6200 A

L = 2¢€V, 2480 A

4 3V, 6200 A

AP EAPCET 2021
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Question Number : 118 Question Id : 544734598 Display Question Number : Yes Is Question
Mandatory : No

The wavelength of the first spectral line of the Lyman series of hydrogen spectrum is
ERD HY HRANS'D G 36d 2068 B AW SGoBg0

Options:
| ® 912 A

, » 12154

, 1512 A

4% 6563 A

Question Number : 119 Question Id : 544734599 Display Question Number : Yes Is Question
Mandatory : No

Which of the following nuclear reactions is possible?
208 ooedes° baggm Sogs 5Oy DA?
Options:

10 4 13 1
5B +2He —>7N +1H

24 1 20 4
11Na + 1I-I _ 10Ne + 2He

239 239 = =
oaFd  E B ¥

AP EAPCET 2021
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7N11 + 1Hl = 5 6c12 + B8 + vy
4, %

Question Number : 120 Question Id : 544734600 Display Question Number : Yes Is Question
Mandatory : No

A change of 0.04 volts takes place between the base and the emitter when an input signal is
connected to the common emutter transistor amplifier. As a result. 20 uA change takes place in
the base current and a change of 2 mA takes place in the collector current, The input resistance

and AC current gain are

28 QDI VBT em&d &d Dgsm‘l)é NoGrdo B BEEH 0k etg*’bt%v Q6
0.04 Sgb Sortiay 5y08. DOV 20 A Srhdy BTG e[S DTS A 2 mA
GE), S0y DSBS DS DT8R0 2EMB00B. DY 5w Sodako AC
IS DT 30

Options :
1kQ & 100

1. *®
L v 2k & 100

, » 2kQ &1000

, « 1kQ &200

Chemistry
Section Id : 54473412
Section Number: 3
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response :

Question Number : 121 Question Id : 544734601 Display Question Number : Yes Is Question
Mandatory : No

A subshelln = 3,1 = 2 can accommodate maximum of
n=23,l=2e0H 300 6033 :g"oaoé SDE DA QT SIBE Doy

Options :

10 electrons
10 derseoen
v 2

6 electrons
6 JDersroer)
) % £

18 electrons
18 dersroen
3. % S

16 electrons
16 Jderstoen
4. % =

Question Number : 122 Question Id : 544734602 Display Question Number : Yes Is Question
Mandatory : No
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If the work function for the photoelectron emission of a metal is 3.75 eV, then the threshold
wave length of the radiation needed for the ejection of the electron is approximately

5708 JOTD ETFOANAD w8 &P ALY D Pa 3.75 eV 00 &'raw

2002) JUFR D DFDOLEAS SOV DT TE); e5602S 6006@9}5&11)

AP

Options:
| % 315 nm

5 % 280 nm

3 ¥ 330 nm

% 290 nm

Question Number : 123 Question Id : 544734603 Display Question Number : Yes Is Question
Mandatory : No

With mereasing Principal Quantum number, the energy difference between adjacent energy

levels in H-atom
2R 570 o] DENDAF &of) H DOATIYY’ B8 08D &) 38 g"o.uv CgATa W

Options:

Decreases
agom

Increases
Polobiabrne)
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1‘81118i11 constant
Sgdanrv &0l

decreases at low level of ‘n’ & increases for higher value of ‘n’

BENS 1 DeNDL HS SH 3532;55 11 VDL S DA
4. % @ 0 @D

Question Number : 124 Question Id : 544734604 Display Question Number : Yes Is Question
Mandatory : No

The electronegativity of the given elements increases in the order

S0l HTrVUSY doeeg)@zga“ééww 2BA S0H80

Options :
| ® G, N, 8&.-F

, % N, Si, ¢, P
,v S, P, CN

% P SL N, C

Question Number : 125 Question Id : 544734605 Display Question Number : Yes Is Question
Mandatory : No

The first 1onization enthalpies of Mg and Al can be expected to be
Mg 08050 Al © 20068 9BrIENRS aowbbv RISV TN ST .

Options:
1. %

AP EAPCET 2021
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IE; (Mg) = 577.5 kI.mol . IE, (Al) = 577.5 kl.mol™?

. IE; (Mg) = 577.5 kl.mol™*. IE; (AD) = 737.7 kJ.mol™
2.

. IE; (Mg) = 737.7 kl.mol™*, IE, (Al) = 737.7 kJ.mol™

4\ IE; (Mg) = 737.7 kJ.mol . 1E, (Al) = 577.5 kl.mol™?

Question Number : 126 Question Id : 544734606 Display Question Number : Yes Is Question
Mandatory : No

How many of the following statements is/are correct?
a) Mercury is the only metal that exists as liquid at room temperature.
b) Among non-metals. carbon has the highest melting point.
¢) Hydrogen is the most abundant element in the universe.

d) Oxygen 1s the most abundant element in the earth’s crust.

808 H[S6ETOS” D) W8 WONID?
a) 68 eg"ga 356 2060),0 S 208) 6 BHI0
b) 05" i5F0es’ 576\ S L eBIBS SDBSD F050> ot
¢) D3NS’ rERS S VLA ©Doth) DrVSIW
d) Zrdd Joees” &8 \2S od DDA VDotsIR0

Options:

1.% %
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Question Number : 127 Question Id : 544734607 Display Question Number : Yes Is Question
Mandatory : No

A covalent molecule X — Y 15 found to have a dipole moment of 1.5 X 107% C.mand a bond

length of 150 pm. The percent 1onic character of the bond will be

X =¥ 003 28 H0aIrano D¢ emd) ang) Ai@agrase 15X 107 C.m
olelov iV zooqsgggo 150 pm 008, & woto AE), VOIS ol Tdo

Options :
% 50 %

, v 62.5 %
3 % 75 %

4% 80 %

Question Number : 128 Question Id : 544734608 Display Question Number : Yes Is Question
Mandatory : No

The hybridization of Se in SeF, and its geometry respectively are

SeF, &° Se £ (50 V05086800 B0IW SeF, G308, B HHOT

Options:

spd. see-saw shaped
, SPPd 208050 SrHE 0 BEd
1.°
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sp3d?. octahedral

i, spPd? 2080w RHOS B85S

sp3d?. trigonal planar
sp3d® Hodasn e SEB0DH &8

sp3d?. square planar
sp3d? 208030 DIVBL WG 35D

Question Number : 129 Question Id : 544734609 Display Question Number : Yes Is Question
Mandatory : No

Incorrect matching amongst the following 1s (according to geometry of molecules)
$od 2805 ST B DO (e9e2 wsé’be‘.’é HES0)

Options:

. H,0 ,NH;

5 P BeClz X COZ

, « S, TeCl,

- CIF;,ICl,

Question Number : 130 Question Id : 544734610 Display Question Number : Yes Is Question
Mandatory : No
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When the temperature of a gas 15 increased from 30 °C to 930 °C. the root mean square speed of
the gas would

w8 TodveY) ), &gﬁﬁé&) 30 °C 006 930 °C £ Dot €2 T70kD eV TMS Mo

Options:

get doubled
580y D

remain constant
2987773 G0l

gets halved
DS Do 9D

increase by 5.5 times
5.5 Béw DM

Question Number : 131 Question Id : 544734611 Display Question Number : Yes Is Question
Mandatory : No

Three flasks of equal volumes contain CHy , €0, & Cl, gases respectively. They will contain

equal number of molecules if

28 0B (0 ey DA TS’ CHy, €0, 2805 Cl, TahoPHed &) .
TS 08 700&_)56‘ RVY G0l DOGG W

Options:

The mass of all the gases is same

. ) TOEVYY Q;ﬁsw% RAIFDHL oS
1.
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The mass of all the gases 1s same but Temperature is different
) T"050PY GI[0° DBFDINT &ol. ag“(jéw DD 0T &0t

Temperature & Pressure of all the flasks are same
D) TORVPY DEDBAN 0B A 'GS 2.8 DB &0t

Temperature. Pressure & Masses same 1in the flasks
©) TORPHO HEDIW, ETFBen DB BITF 2EIRIVT o

Question Number : 132 Question Id : 544734612 Display Question Number : Yes Is Question
Mandatory : No

If the volume of 15.9 g of carbon tetrachloride 1s 10 ml. calculate its density.
10 ml © 5°6yS BErEBE 0o 15.9 g oS 5°6)S BEPEBE FoEd dod?
Options:

= 31.8 g.ml™?

, v 1.59 g.ml™?

, 0159 g.ml™*
3.

4% 159 g.ml™?!

Question Number : 133 Question Id : 544734613 Display Question Number : Yes Is Question
Mandatory : No
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0.63 g of Oxalic acid is dissolved in order to obtain 250 cm” of its solution. Find the normality
of this solution. [Oxalic acid: (CO0H),.2H,0 ]

0.63g vg@é &3y §8Aocd 250 em’ © @g"@é 830 TI) SOIrOBTE. 0K,
& GO0 a8, 3"0"&093 (ie30tid. (eg@é esda: (CO0H),.2H,0)

Options:
- 0.05N

, « 0.0LN

3 ¥ 0.04 N

, % 0.02N

Question Number : 134 Question Id : 544734614 Display Question Number : Yes Is Question
Mandatory : No

When an ideal gas expands isothermally from 5 m® to 10 m® at 25 °C against a constant

pressure of 107 N.m 2. then the work done on the gas is

25°C, 107 N.m™2 o gciaaao 36 2,8 Be6TaR) 5 m? 0 10 m? 368 2rE
D3aHE" T(E0 2ORRYED. & TAROY 264D H

Options:

- —100 MJ
5 ¥ —50 MJ

3 % —0.5 MJ
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—10° MJ

Question Number : 135 Question Id : 544734615 Display Question Number : Yes Is Question
Mandatory : No

Find the approximate value of (AH — AU) in J.mol ™%, for the formation of CO from its

elements at 298 K. (R =8.314J1.K L.mol™)

298 K 6 3070570 &od (0 dodien 6’ (AH — AU) devd J.mol™" 0’ drdorr
(R=8314].K L. mol™)

Options :

| x —1238

, » 1238

, x 2477

, % —2477

Question Number : 136 Question Id : 544734616 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

08 TP RAHBA0?

Species Conjugate acid
Pl X :oooa:orsé &9
(a) NH; (1) HyCO3
(b) HCO; (i) Hs0*
(c) H,0 (iii) NHf
(d) HSO; (1v) H,S0,

Options :
v (a—iii),(b—=1i),(c—ii),(d—iv)

, % (a—=i),(b—iii),(c—»ii),(d—iv)

. (a—siii),(b=2ii)(c=3i)(d—=iv)

. (a—iii),(b—ii),(c—=iv),(d—=1)

Question Number : 137 Question Id : 544734617 Display Question Number : Yes Is Question
Mandatory : No

The pH of 0.1 M solution of acetic acid will be [degree of dissociation of acetic acid is 0.0132]
0.1 M 88 e3e0 Gradeasd) pH o) (D88 032205 daira edé 0.0132)

Options:
| ® 4.32

, o« 314

AP EAPCET 2021
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3 % 1.14

2.88

Question Number : 138 Question Id : 544734618 Display Question Number : Yes Is Question
Mandatory : No

The main constituent of enamel on the surface of teeth 1s:

G080 EDBBVAND &) ITSES” (10 BP0 BRLEAND

Options :
. [3Ca;(PO,), - CaF,]

 w Ca5 (PO, H,0

L v [3 Ca,(PO,), - Ca(OH),]

4% CaF,

Question Number : 139 Question Id : 544734619 Display Question Number : Yes Is Question
Mandatory : No

H3;B0; or B(OH); is considered as an acid because its molecule

H3B0; So B(0OH);3 &0 300 D0eiotidsd ST6E30 &7 960Y)

Options:

1.%
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Combines with proton from water molecule
D 950 Mol FEFHVS DotET Ko Wt

Accepts OH from water. releasing a proton

L v DB B00d OH &0 (52700, TerS0 DEdGe s

. " P,
Contains replaceable H™ 1on

" Sofoserdne HT eo3rd 98 cocotd

Can donate proton easily

. WOZoM™ TErOA) o BOAERLML

Question Number : 140 Question Id : 544734620 Display Question Number : Yes Is Question
Mandatory : No

The element with maximum bond-energy

Sod T3&5° (0L Lot 38 fOd

Options:

1.***”"6
Zwa

33369

4gg5i
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Question Number : 141 Question Id : 544734621 Display Question Number : Yes Is Question
Mandatory : No

Identify the coldest region among the following layers of atmosphere?

$08 T°¢° A VO TT DGR TG IB?

Options:

Troposphere
@63“.030136

Mesosphere

2135649030505
2.V :

Stratosphere

365" 006

3.% %

Thermosphere
% @66&«03&1)5

Question Number : 142 Question Id : 544734622 Display Question Number : Yes Is Question
Mandatory : No

Alcohols with molecular formula C, H,,,4,0 are isomeric with

CuHzn420 ©EOFE) & (0 50 Few 5] RVT ) F[A0 Tob G0t

Options:
Acids
| x GRFw
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Ethers

2.V Goe

Esters

3.% -

Aldehydes
39

4.% TEE®

Question Number : 143 Question Id : 544734623 Display Question Number : Yes Is Question
Mandatory : No

7.8 g of a compound having molecular formula C¢H,. on reacting with CH;COCl/AICl; gives
8.4 g of a product which has molecular formula CgHg0. Calculate the percentage yield of the

product CgHg0. (Given atomic weights of H. C and 0 respectively are 1. 12 and 16)

@mé‘m&v Collgm &) 7.8 g © 86y o, ¥, CH3COCI/AIC [, & usqgé‘ CeHg0
OROFELLT (10 8.4 g © ESYT) ) AGHBAIG. &8 &8y) 20 Briderd. TSI

Options:

5 % 60 %
S % 80 %

4% 75 %

Question Number : 144 Question Id : 544734624 Display Question Number : Yes Is Question
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Mandatory : No
Arrange the following bases in decreasing order of basicity is
(1) Aniline
(11) O — nitroaniline
(111) m — nitroaniline
(iv) p — nitroaniline
TOS0 SV SH020S” 6 ol
(i) 299
(i) 0 —2&° 295
(i) m — &° 295
(iv) p— D& 95

Options :

| (1) > (ii) > (iv) > (iii)
5 (i) > (iii) > (iv) > (ii)
3 % (iv) > (iii) > (ii) > (i)

L% (iii) > (ii) = (1) > (iv)

Question Number : 145 Question Id : 544734625 Display Question Number
Mandatory : No

The complete combustion of one mole of benzene produces grams of carbon dioxide.

8 A BB PO SrdA0 BoBowIYYE ___ [rane (0, 2w b

Options:
| % 164

AP EAPCET 2021
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, % 220
, v 264

308

Question Number : 146 Question Id : 544734626 Display Question Number : Yes Is Question
Mandatory : No

A metal crystallizes with a FCC-lattice, the edge of whose unit cell is x pm. The diameter of

this metal atom would be pm.

FCC 2rosor a8 6'iPo 886680 Boord. ahrdES 26 o T x pm. & &%
DBTEDR) 35700 pm.

Options :

1332)(

Question Number : 147 Question Id : 544734627 Display Question Number : Yes Is Question
Mandatory : No
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If two liquids A and B form a minmum boiling azeotrope at some specific composition, then
which statement among the following is correct?

w8 géss ROLDANS A 28050 B %) Botd) Garen w8 SD‘%} e:;fga bg) 004
DRATE'D 2 D6\EEIE, $0b HSVTVS’ LBGHRE B,

Options:

A — B molecular interactions are stronger than A — A and B — B interactions.

o A= B 0r0w D60 (. A — A 2000 B — B 0R0y0 (v Sot3 VD.
1.

The total vapour pressure of the mixture is greater than that corresponding to an ideal solution.
& 630350 aog) wdo ey Do, TS BAD 66) Trdto oy X0 S0 ) 31T Go

There 1s a slight decrease in volume when the two components are mixed.
, ¥ 00 g £ DoRdDBATTI0 DYV T BHI.

AH,,;, will have a negative value.
. AHp DeD 2ETB) ST 0GR,

Question Number : 148 Question Id : 544734628 Display Question Number : Yes Is Question
Mandatory : No

The vapour pressure of a solvent decreased by 20 mm of Hg when a non-volatile solute was
added to the solvent. The mole-fraction of the solute in the solution is 0.5. What should be the

mole-fraction of the solvent for the decrease in the vapour pressure needs to be 10 mm of Hg?

28 e.oqub%v FAe) S0 a8 Trdmo w’xqsf)c:éo 20 mm Hg SA30. & grimed’
Tado A arto 0.5. m’qbfaaé A58 10 mm Hg ebtsy grded - erfio dod
50!

Options:
1.¥
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Question Number : 149 Question Id : 544734629 Display Question Number : Yes Is Question
Mandatory : No

Fora A + B — products the rate of the reaction is given by Rate = K[A] [B]* . The units of

rate constant (K) will be

A+ B ~ 6y 0, 0 i6] ey o) 2Ema 8w = K[A4] [B]? eond e €50
36w f(’go"osan (K) aoog), prrren

Options:

| ® mol L7t S
o L mol™* §71
. mol2 72832

L mol 2 [* S 1
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Question Number : 150 Question Id : 544734630 Display Question Number : Yes Is Question
Mandatory : No

In the electrolysis of a CuS0, solution. how many grams of Cu are plated out on the cathode. in

the time that 1s required to liberate 5.6 L of 0, () measured at 1 atm and 273 K., at the anode?

CuS0, e DeBRee’, 1atm 2080w 273 K 96, 636 3¢ deocswddy edyad
20BDBAFEA 5.6 L 00\ THE D V) Trawe Th 600067

Options:

L« 1429
L« 432

, % 3175g

Question Number : 151 Question Id : 544734631 Display Question Number : Yes Is Question
Mandatory : No

For an elementary reaction. X(g) —— ¥g) +Z(g). the t, , 15 10 munutes. In what period of

time would the concentration of X be reduced to 10 % of its original concentration?

28 RS 6565 Xg — Yp tZ(p & L2 D0 10 Ddwaren. X esdod medd’
10 % % e:ogms) DD 5V 55.:)@

Options:

20 minutes

| ® 20 DaTren
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33.2 minutes
, v 332 Jdwdren

15 minutes

L % 15 DAnIren

25.2 minutes
, % 252 QAN

Question Number : 152 Question Id : 544734632 Display Question Number : Yes Is Question
Mandatory : No

Which statements among the following are correct?
(1) Freundlich isotherm fails at high pressure of the gas.
(i) AH < 0 for both physical and chemical adsorption.
(1) Physical adsorption is non-selective,
(iv) Chemucal adsorption 1s reversible. where as physical adsorption 1s irreversible.
S0 TS° D DAIFED WOND?
() 08 DETR 3¢ ool DA VATLST VR DI6H RIE
(i) FAE B0 BFANAE AT AH < 0
(i) FOS BTN 6 DIQS Gokdd
(iv) GRrODE BOTRRAD ESDINNE T FAE VAT NI T
Options:
(1). (11). (111) & (1v)
1. ¥
(1). (11) & (111) only
, (1). (11) & (111) Soeddd

3. %
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(1). (111) & (1v) only
(1). (111) & (1v) Soegdd

(1) & (1v) only
% (i1) & (iv) Soeghad

Question Number : 153 Question Id : 544734633 Display Question Number : Yes Is Question
Mandatory : No

Xenon best reacts with

SRS SO error ey Dotres0od.

Options :

Neutral atoms

. éeﬁg DCDTEDQ)L
1. '

Most electronegative elements

J BB 20069 bqﬁazgwééseé () SoresTen
2.¥

Most electropositive elements

, OBBE B Dq&s}gwé&sa () SuTPeSTeD
3.

Transition elements

L% D0 daresTe

Question Number : 154 Question Id : 544734634 Display Question Number : Yes Is Question
Mandatory : No
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The correct order of acidic character of the following is:
Sod (oé;yéa"v €350 D(RIPDH0V DD 00
Options:

% H20 = st > ste = HzTe
1.

 « HaSe > H,S > H0 > HyTe
3 \*;.-”? HzTe = ste e st o HzO

, # HTe > H,S > HySe > Hy0

Question Number : 155 Question Id : 544734635 Display Question Number : Yes Is Question
Mandatory : No

In the following reactions (i) and (ii). the number of moles of chlorine gas released
respectively are

$ocs adQeIta (1) SoBokw (i) e6[od’, e Lawd §65 Ton) ardw deay

@) Mn0,+4HCl —
(i) KMnO,+ 16 HCl ——

Options:
| ® 1 &4
5 & 1&5

% 28&5

L% 28&4
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Question Number : 156 Question Id : 544734636 Display Question Number : Yes Is Question

Mandatory : No

A purple colored compound of Manganese (X) decomposes on heating to liberate oxygen and
forms compounds of Manganese (Y and Z) compound Z reacts with KOH in presence of

potassium nitrate to give compound Y. Compounds X. Y and Z respectively are

& Gorh (50 Ao 0¥ X 56 Sabrr aIraiw Bof 8y e Boww
28050 Bott) RSE ATofAD 703)&0?3"0) (Y 080w Z) ok N Z éﬁ)&#é&»
Jeraabo QQQS dvgane’ KOH & w6y Job (oboym.‘m Y A0 ey, X, Y sobasn Z
roéo&%m)w Slevials S

Options :

. X—KMnOy Y—Mn,0, Z—MnO,
1.

X — K;MnO, Y — KMnO, Z— Mn,0,

2. %
3 v X_KMn04 Y—K2M7104 Z—Mn.02
, « X—KMn0, Y—Mn0, Z—MnO

Question Number : 157 Question Id : 544734637 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

property metal
(a) Element with highest second ionization enthalpy (4;H,) (1) Co
(b) Element with highest third ionization enthalpy (4;H;) (1) Cr
(c) Min[M(CO)4] (i) Cu
(d) Element with highest heat of atomization (A,H) (iv) Zn
(v) Ni
808 TID 2B0AN?
GGy Sirdm
(a) BB LALAEEE JoaBy LSBT ffo i) Co
Arogan (AH,)
(b) ot eadSER doady OS(ESMT (0 (ii) Cr
Qorogsn (AH;)
(¢) M [M(CO),] (iif) Cu
() 3(es DOArdstn ahdw fo dregan (A.H) (iv) Zn
(v) Ni
Options:

| (a—iii),(b—=1),(c—>v),(d—iv)
, v (a—=iii),(b—=iv),(c—ii),(d - v)
3 % (a—iv),(b —1i),(c—ii),(d — iii)

4 % @=9),(b—iv),(c— 1), (d - iiD)
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Question Number : 158 Question Id : 544734638 Display Question Number : Yes Is Question
Mandatory : No

The human body does not produce

AP0D FOCHAN U HE R0 &3 VoI

Options:

Enzymes
| ® Do

5 % DNA

Vitamins

| dodow

Hormones

. :ﬁ&‘&mw

Question Number : 159 Question Id : 544734639 Display Question Number : Yes Is Question
Mandatory : No

Identify the best suitable reagent for the following reaction.

$0d W[ 2ERYL STHVNDD S°GE0 DA?

cl cl cl
SO,H

SO.H

Options:
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Concentrated Sulphuric acid
™6 "«ow‘lsbé e300

Dilute Sulphuric acid (10 %)
SETY ;’owbébé e300

Concentrated Sulphuric acid & Concentrated Nitric acid
g3~ :owhéaé 23500 VOO e ABS Do

Concentrated Acetic acid (fuming)
e DS €500

Question Number : 160 Question Id : 544734640 Display Question Number : Yes Is Question
Mandatory : No
The major product of the following reaction sequence is

& 808 BSOS’ DOy DETD GSyD) A0

OCHz  }y CH,COCI, AICl (anhyd.)

ii) Zn-Hg/conc. HCI

v
-~

iii) HI

Options:

OH

CH,
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OCH,4
|
2. % s
OH
I I
CH,
3. %
I
CH;
4, %
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